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Math worksheet on 'Radicals - Multiplying Binomials
(Values and Variables) (Level 1)'. Part of a broader
unit on 'Radicals - Multiplication Intro’

Learn online: app.mobius.academy/math/units/radicals multiplication intro/

2 Multiply the radical expressions and simplify
the answer

(2—+/11) - (3n + V/5)

a 5-3pV11+2v5+1 6,2 + 50011 + 205 - v/55
Con—3nvil-2v5++v55 A 6n-3nvil+2v5-1
€6n—3nvI1+2v5- 55 T 6n -+ 3nvIl+4v5— /55

4 Multiply the radical expressions and simplify
the answer

(4 — v2z) - (VTz + 52?)

@cﬂ%—x\/ﬁ+20m—5x2\/ﬂk&\/7:c*9:\/ﬁ+20$+5:1:\/2x
€7 - 2v14 + 2023 - 523V2 dlmV?:B—:B—ZO:E3 - 52%V 2z
8172 — 218 — 202° — 52°/27 §a/ Tz — av/16 + 202° — 522V 22

6 Multiply the radical expressions and simplify
the answer

(v/3+5) - (V13 + 572)

a/39 + 2r3v/3-5v13 + 25:2 D11 5,:2v/3 - 5v/13 4 25,2
C 3v39+30r2+5v13 /39 4 2r2v/3 4+ /13 — 25:2
€1 522513 +25:2 K/30 4+ 5:2v/3 4 5v13 + 2572
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1 Multiply the radical expressions and simplify
the answer

(3cv/c + ev2e) - (V5 + dey/e)

B 1/50 1+ 1263 + ev106 + dev2 BVBe 4 1263 + ev/10e — 5ev/2
€/Be + 1263 + ev/10¢ + 4c3v2 8Be — 1262 + 2v/10¢ + 432
% —12¢? 4+ ¢v/10c + 4c3V/2 gcx/S_c +12¢% + ev/10c — 4ev/2
3

(v/5 = 5n4/n) - (n®V/13 — 4ny/n)

Multiply the radical expressions and simplify
the answer

5 Multiply the radical expressions and simplify
the answer

(4 +/3) - (4—/5)

a 16+v3+4v5-v15 B 164+4/3-v5-V15
C  1744/3-4/5 d 164 4v3-4v5-15
€ 16-4v3+4v5-v15 f 1-V3-4/5115

7 Multiply the radical expressions and simplify
the answer

(424/2 + 2v/5) - (V32— 52)

B/3-20227 + 2v/152 - 5226 B:2\/3 - 23 4 2v/152 - 5225
£/3 4+ 2021/7 - 2152 - 52275 /340227 - 2152 + 52215
@:2\/3 22 4+ 21152 - 52%V5 IzQ\/g— 202%/z + 2v/15z — 52°v/5
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